Porn For Slade

A=2
AA=4
AAB=4
AAB(SET)=6
6A=3
6AA=5
6AB=5
3A=3
2A=2
4A=7
4A(SET)=5
7*8%¥9A=2
WR A=3
FC A=2

B=3

BB=5
BBB=5
BBB(SET)=7
6B=6

3B=6

2B=5
2B(SET)=3
1B=10
4B=10
7%8*9B=4
7*8*9B(SET)=2
WR B= 10
FCB =4

FC B (SET)=5



K=2

6K=10

3K=2

2K=2

1K=2

4K=5
7*8%9K=5
7*8*9K(SET)=2
WR K=8
FCK=2

22A+B=12
22A+B(SET)=8
66A+B=14
66A+B(SET)=11
44A+B=22
44A+B(SET)=18
66A=6

66AA=9
66AAB=15
66AAB(SET)=22
33A=7
33A(SET)=8
22A=5
22A(SET)=5
22AB=7
22AB(SET)=5
44A=3

44AB=8
44AB(SET)=11
66B=10

33B=7
33B(SET)=6
33B(B)=13
22B=6

44B=11



44B(SET)=14
66K=8
33K=6
22K=5
44K=2

A+B=3

A+B A=5

A+B(SET)=3

A+B A(SET)=5

A+B A B(SET)=6(7if the last hit doesn’t whiff)
6B+K=4
6B+K(SET)
6A+B(SET)=
6A+B=7
8A+B(SET)=10
8A+B=10
4A+B(SET)=4
2A+B(all series)=2

2
7

A+G=10
B+G=11
Right=12
Left=12
Back=14
(SET Throws)
A+G=5
B+G=9
Back=2



